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The drawings of the M(V) curves for the two events are shown in Figures 1 — 10 for such pollutants as TSS,
TOC, Ferot, Zniotand Zngis. In both cases the numbers indicate the order of drawing for each point of the M(V)

curve from both the hydrograph and pollutograph.
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Fig. 1 Example of the drawing of one M(V) curve for Few: for event 1
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Zn tot, mg/I

Cumulative mass, mg/s

Cum mass / Tot mass
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Fig. 2 Example of the drawing of one M(V) curve for Zn: for event 1
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Zn dis, mg/l

Cumulative mass, mg/s

Cum mass / Tot mass
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Fig. 3 Example of the drawing of one M(V) curve for Zngis for event 1
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Cumulative mass, mg/s TSS, mg/|
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Fig. 4 Example of the drawing of one M(V) curve for TSS for event 1
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TOC, mg/!
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Fig. 5 Example of the drawing of one M(V) curve for TOC for event 1
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Fig. 6 Example of the drawing of one M(V) curve for Fe:t for event 2



Cumulative mass, mg/s Zn tot, mg/I
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Fig. 7 Example of the drawing of one M(V) curve for Zn: for event 2
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Fig. 8 Example of the drawing of one M(V) curve for Zndis for event 2
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Fig. 9 Example of the drawing of one M(V) curve for TSS for event 2
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Fig. 10 Example of the drawing of one M(V) curve for TOC for event 2



